oh2 9T} 2ol £C = 90° 91 21742t ABC 9] HIW¥ AB o] 54
£ 0 352 LAOC =60° € o, zx & 2712

@® 10° @ 20° ((@30O @ 40° ® 50°

S5 ~
2247149 YA MH Y] Fdo| 2R AO = CO = BO

BO = CO °|E& ABOC + °|5HAZg oIt

o2kA /OCB = /B = x

A7k o] gt 917Zte] 37]E T Yzt &
x + x = 60°

cox = 30°
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2.

o2 1A H 178 aAABC O] U4 A W, 2x 0] 27]+=7

A

B E=C
30 25°

@® 15° @ 20° ® 25° @ 30°

®)35°

30°4+25°+ /x =90°
S /x=35°




3. T2 AABC 9 A& 0 2t & o, zx 9] A7]=?

@10° @ 20° ® 30° @ 40° ® 50°

~&B

AAOB 94 AO = BO ©|2&, /OAB = /OBA , 100° +
LOAB + /OBA = 180° , ZOBA = 40°

LOBC = £OCB = 40°, z/x+ /OBA + £OCB = 90° , x +40° +
40°=90°, - /x=10°.




ABC ¢ 141“0] i, 8D, E, F=d-o|th
o]7} 2em & o, AABC 9] Ho]=?

o)
\-_1>~1
ru\‘ rlr
S

® 22cm? @ 23cm? ®)24cm?

@ 25cm? ® 26cm?

E:E:E_EZE_EZQ—E):ZL(CIH) O]EE
AC =AF + CF = 44 3 = 7(cm) ©|t}.

a2kA AABC = % X2X (9+8+7) = 24(cm?) o|t}.




5. & 1Rl A7 ABC 9 €43t Yi4ol 2442 O, 194 /BOC =
110° & o, /BIC + A °] 7)== 2 &7

A

@® 166° @ 168.5° ® 170°

®)172.5° ® 178°

AABC 9] &J4o]l 4 0 ¢ o, %ZBOC = /A o]|B2 /BOC =
110°, £A = 55° o]t}

AABC o] Y4do] 1< o, %AA+90° = /BIC °|E& /BIC =
1

3 % 55° 4+ 90° = 117.5° o|t}.

ot A /BIC + A = 117.5° + 55° = 172.5° |},




HO = WHAF9] Zol7F 3em {1 Lo FHoltt. /BAC = 30°
A of, R2EOBC 9] Hol=?

A
BC
3 9 5 5 )
@ yrem @ 4rcm ® y7rem
3 9 5 5
@ 2Fem ® Jrem

60
X —




7.

2 OgHoA H 1= AABC 9 WAoot /B =30° ¢ o, ,/ADI +
(CEI 9] Z7|=?

A

B30 C

@® 110° @ 123° @135° @ 148° ® 160°

~&B ~

LAIC =90° + %AABC = 105°

LAIC = /DIE = 105° .

oBEID oA /BDI + /DIE + /IEB + /EBD = 360° .

/BDI + /BEI = 360° — 30° — 105° = 225° .

/BDI + /IDA + /BEI + /IEC = 360° , /ADI + /CEI = 360° —
225° = 135°




g 1A A 1 442HE ABC 9 Yalolx DE//BC < o,
oDBCE 9] Yol dulel7p?

® 38cm? @ 40cm? ®)42cm?

@ 44cm? ® 46cm?

gL ~
A 17} WAelx DE//BC € o,

( AADE 9] £#|9] Zo] )= AB + AC

w2tA] (AADE 9] E39] 4o]) = AB+AC = 11413 = 24(cm)
ojtt.

AD + AE = 74 8 = 15(cm) ©]22 DE = 24 — 15 = 9(cm)
oJtt,

uj2tA] Abche]E DBCE 9] Hel+

1 1




9. o8 IHYAABCOA B=35,/C=65°°1, HO0OF HI=
ZYZY AABC 9] QI WA o, zx o] 27]& oot

® 10° @ 12° 3@)15° @ 18 ® 20°

B

dOoeHCEILH,

i) /B =35°°]B& /AOC = 70°, LOAC = %(180" ~70°) =
55° -. LOAC = 55°

i) ZA = 180°—(35°+65°) = 80° | 2& /IAC = %XSO" = 40°
Lx = LOAC — /IAC = 55° —40° = 15° . /x = 15°




10. o2 I"A AB & €0 9] AlEelT, Y0+ aABC O] 8¢, ¥0O
2 AABC O] Yol = ¢ 0,0 9 §kx]F-9] Zo]7} ZHZF 3em,
lem ¥ @, AABC 9] Y o]=?

@ 6cm? @)7cm? ® 8cm?

@ 9cm? ® 10cm?

~&B

AB 7} 90 9] A 5o|B R

51, BC = a(cm) , AC :_(cm)_l_‘l]' ] il

BE=BD=a-1(cm), AF = AD = b - 1(cm)
T2t AB=a-1+b-1=6°2&. a+b=38

1 1
.~.AABC=§><1><(a+b+6)=5(8+6)=7(cm2)




